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No 93 PLLEIN (X BE & BHEE lw R g | EMENE gy - & BHEE |y
b175 |EH>HL H FyX [MESEHIS (SRTIVE) KK 31_2H—3 FL— 12,600 %"i}m’ﬁ)_j 35_SF250 S8 7,100 25912 gy—> | 5700
b327 |BESL & |FvRX |37=<ILF—FKkids) 258 30125 TATIETU=1 7400 77_BH-210F w4k | 3,500

b101 [BHED 5L  [FvX [MEBEHIS VSRTIVE) KK 31_ZH—3 gL— 12,600 B 35_SF250 ILOT4— | 7,100 25912 T— 5,700
k428 |BED 5L [FuyX [145LLAEHRER A2 21_7916(%) IS5y 4900 | mALMT

b281 [L&AT & FuX (9REET AR 67_7LYST & 10,800 33_SF200 o] 7,600 87_INE & 5,400
k147 |L&AT & FyX |13EEMD itke) 12_%anh SEVY 8400 37_SF240 g)—Ls 6700 10_BH-18E RIA 5500
b370 |f=hf= & FyX |37=ILT—hKkids) 258 30_T25 FAILTIL— | 7,400 77_BH-210F RIAk 3,500

b379 [f2EH A FwX |37=LF—hIKkids) 2568 30_T25 FALTIL— | 7,400 77_BH-210F AT+ 3,500

kos2 f=&<H & FuX | THREE(F) e 31_2p—3 I3y 7400 32 A%h5 @‘—/gja-‘) 4900 6_BH-WO1F I3vv | 3700
k140 |1=7Ehs H FuX [13EHD pe > 8 ALY SLR— 8400 34_SF201 gy— 6300 61_BH-255F T— 5500
k393 |f=7Eh H FuyX [14BLLAERRER /o) 21_7916(%) FFaSIL 4900 | EALMT

b306 |%3 & FuX [120VBDR Y 69_viL L & 5,500 76_8308 RIA+ 4,300 79_1924 Kith 3,300
b157 |D<H FyX [MEBEH#IS VSRTILE) KK 59 5 A—)L x 10,800 =5 | 35.SF250 BT 7,100 25912 Tn— 5,700
ba61 |OEL B *9X |4EABOREE Y 65_SH-203N Lk 6,400 18_BH-034 RIAEI7 ] 4800 861084 Ss— | 3,900
k265 [WFE H FuX [MEBEH#IS VSRATIVE) AR 35_SF240 Lwk 8400 61_BH-255F Tn— 6700 25912 Tn— 5700
k250 |12 & FuX [1LEBEHIS USZTIVE) K& |32.2%rs R4k 8600 34_SF201 RIAk 7700 10_BH-18E RIAk 6700
k205 [L\YE Z DaZT|MESERTS VSRTILE) KK 31_2H—35 JL— 12600 37_SF240 J)— 8400 10_BH-18E Jy— 6700
k262 | 5B71= # Ja=F ([ 1RBE#IS VSATIVE) AR 19_TayTuk RE 10200 32_R3+5 '7_7/75"’ 8600 61_BH-255F 2E7 6700
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No 93 PLLEIN (X BE & BHEE lw R g | EMENE gy - & BHEE |y
k263 |<BEF CaA=F(1LEBEHIS VSRTIVE) AR 19_PayTuk RE 10200 13_L-SHA-20 HHEZ 8800 10_BH-18E IS5y 6700
k018 [KBHETF SAZ7 | THERE (&) 20f% 12_3vanh GHY—> 4400 4.7910 LA 3410 38_SF202 I3 2700
k421 |KBEY W Caz7|14BHL AR RIER D 21_7916(%) I3 4900 | #mAlmT

k181 |&128Y h $a1=7|36HF7IN 71V RK 9 %3 &5 10800 37_SF240 g—L 8400 25912 Lyl 5700
k218 |&128Y h Sa=T|1EBERIS VRTIVE) K&K 31_2H—5 FL— 12600 37_SF240 gy—y 8400 61_BH-255F In— 6700
k413 |&128Y h TaZT7|14BHLAERRER D 21_7916(%) FFasL 4900 | EAimT

b11 |LFEF , $a1=7|35TVRFr—T—h 25f 54_1050 = 4,040

k122 [LEFETZ » Sa=7 | SHERE (F) 207 40_RFAY &2 4900 H_BNHUE &% 3800 38_SF202 J1)—=> 2700
b69 |HEhifz & Az 7| 28N EE Y 60_VTA—¥ & 6,900 14_MH-E45) g)— 4,800 5.8229 RIA+ 3,500
k034 |Tihifz & Taz7 | THRERE(F) 2055 40_RAFAVY 28 4900 HM_BINHUE &% 3800 35767 IS5y 3260
k290 |7EAtf= &= Sa=F[47=ILT—h(Jr) 256 30_T25 I).‘?_":f'j 7400 4.7910 ) 4260
b122 |2 W DaZTFNLRBERTS VIRTIVE) KK 59 54—l I’ 10,800 BE 35_SF250 V7S 7,100 25912 g)— 5,700
k042 (DD DT | THRE (F) 25f 15_tg/ML Eo 5600 3_5767 gy)—> 4010 10_BH-18E gy—> 3500
b124 |EDLH UV Ta=T|1EBEHRIS USRTIVED K&K 59 A=) X 10,800 BE | 35_sF250 78 7,100 2.5912 T— 5,700
k308 |EDELS B |[Paz7|a7=<F—r(r) 256 30_T25 "',{’_"7 7400 4_7910 #4E— | 4260
k407 [FEDLD U Sa=7|14BELARBIER D 21_7916(%) I35 4900 | ®AHlmT

k092 |A&L 7R DaZ7|TERE(F) 305 40_RTAVYT RE 7100 M_BIUHVE BE 5500 61_BH-255F +E7 4200




